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Q.No: 1 Mohiniyattam dance is performed in which of the following states?

A Manipur

B Uttar Pradesh
c Tamilnadu

D Kerala

Q.No: 2 Which of the following is one of the Particularly Vulnerable Tribal Groups (PVTGs) of Madhya Pradesh (including Chhattisgarh)?

A Padhar

B Koraga

Cc Birhor

D Sauria Paharia

Q.No: 3 In which year Shajapur was declared as a district?

A 1904
B 1902
C 1901
D 1903

Q.No: 4 When was Madhya Pradesh Badminton Association founded?

A 5th August 1945

B 19th October 1946

Cc 17th September 1950
D 10th December 1943

Q.No: 5 Consider the following statements about 'Congress' and choose the false one-

A Bal Ganga Dhar Tilak was an Extremist.

B The Indian National Congress was established in Bombay in December 1886.
Cc The Congress reunited in 1915.

D The Congress got split into Moderates and Extremists in 1907.

Q.No: 6 Which of the following districts does not fall under Bundelkhand Plateau?

A Datia

B Sajapur

C Chhatarpur
D Panna

Q.No: 7 During whose tenure as Chief Justice of Indore High Court, the Indore Bench was declared a Bench by the President of India?

A Justice PK. Dixit

B Justice Bishamber Dayal

C Justice PK. Tare

D Justice Ganesh Prakash Bhutt
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Q.No: 8 In which of the following year was the World Bank formed?

A 1942
B 1944
C 1943
D 1940

Q.No: 9 In which of the following languages did Gautam Buddha give his sermons?

A Hindi

B Sanskrit
C Prakrit
D Pali

Q.No: 10 How many small chambers are located inside the Chausath Jogini Temple in Mitaoli village?

A 64
B 66
Cc 62
D 68

Q.No: 11 Which Port is located on the Hugli River, 128 km inland from the Bay of Bengal?

A Kochchi Port

B Kolkata Port

c Haldia Port

D Tuticorin Port

Q.No: 12 Chhatarpur district is bounded by the state of to the north.
A Uttar Pradesh

B Rajasthan

C Maharashtra

D Jharkhand

Q.No: 13 Which of the following is not a feature of the Cabinet Mission Plan.

A The Muslim League passed a resolution on July 29th, 1946 withdrawing its acceptance of the Cabinet Mission Plan.
B The Federal Government would deal with defence, foreign affairs, and communication.

Cc India would be a federation of British provinces and the Indian States.

D Princely states would be under the direct control of the Union.

Q.No: 14 According to the Indian Council of Agricultural Research, how many types of soils are found in India?

A 6
B 5
Cc 8
D 4

Q.No: 15 Where was Chandu Sarwate born?

A Bhopal

B Narmadapuram
[ Sagar

D Vidisha

The Sitamarhi Group of Temples, Hanuman Marhi Group of Temples, Kuti Group of Temples & Andhakuan Group of Temples is found at

Q.No: 16

A Lanji
B Baihar
c Garhi
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Q.No: 18

Q.No: 19

Q.No: 20

Q.No: 21

o W >

Q.No: 23

Q.No: 24

o W >

Q.No: 25

Thoban

Who among the following has won Australian Open 2021 men'’s single title?

Novak Djokovic
Roger Federer
Stan Wawrinka

Rafael Nadal

Who among the following is not integral to the trinity of Carnatic Music?

Syama Sastri
Venkatamakhi
Muthuswami Dikshitar

Tyagaraja

Dr Ramkumar Verma was NOT a -
Playwright

Poet

Hindi literary history writer

Singer

Who is the current secretary of the Madhya Pradesh State Election Commission?

B.S. Jamod
Mr. Durg Vijay Singh
Mrs. Sunita Tripathi

Mr. Basant Pratap Singh

Who out of the following discovered that when closely related elements are grouped in a set of three, the atomic weight of the middle element was

almost the arithmetical mean of the other two elements in that group?
John Dalton

William Odling

Antoine Lavoisier

J W Dobereiner

Which one of the following is the method to make water safe for drinking?

By freezing
Boiling water to kill germs in the water.
By adding salt

By adding chlorine

The Group 16 elements of the long form of Periodic Table are also known as -

Halogens
Transition Metals
Alkali Earth Metals

Chalcogens

Name the group of organisms in which the hind-limbs bear clawed digits that are adapted for walking, perching and swimming whereas the

forelimbs are adapted for flight?
reptiles

amphibians

mammals

birds

What is an example of a closed system?
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Q.No: 28

Q.No: 29

Q.No: 33

Metallurgy
Steam turbine

Refrigerator

Oven

Which type of crop is grown during the winter season?
Rabi crops

Kharif crops

Seasonal crops

Commercial crops

Largest cells are

White blood cells
Human Fetus
Umbirical cord

Egg cell of ostrich

is produced by involving lactic acid fermentation.
Milk
Vinegar
Beer

Curd

Directions: The following question consists of two statements one labeled as “Assertion” and the other as
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“Reason”. You have to examine these two statements carefully and select the correct answer to the question from f&sr: fFrafaf@a wer & <t o & o @ g At "sifipem" iR gER A "HRT" & 3

AR (A) : FIRITR veh S Iexgait &l gaferat o€t gt &1

the given options.

Assertion(A): Nocturnal birds like owls have large pupils.

Reason(R): It can provide a larger pathway for light to travel to the retina.
A s false but R is true.

Both A and R are true

Both A and R are false

Ais true but R is false.

Learning places for sustainable development, describes the basic design of a

Biosphere reserve
Wildlife sanctuary
National park

Zoo

Drinking water is considered to be for our body.

Essential
Optional
Non-essential

Ignoreable

Which of the following has a higher coefficient of linear expansion?
Steel

Quartz

Iron

Aluminium

The bird’s flight adaptation is because of -
hollow bones

wings
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Q.No: 36

Q.No: 37

Q.No: 39

feathery covering

Insulation

Black lung disease is common amongst people working in -
Coal mines

Fisheries

Agriculture

IT industries

Name the long chain made of small repeating monomers.
Polythene

Terycot

Silk

Polymer

Choose the correct mirror image of this combination- QWEZP872HO.

OHETEISWHO
OHEVE9ISWO
OHETVEISHOW

OHEITEIRTWO

Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the

second, and the two statements are logically consistent with the main statement.
The neighboring country is either enemy or friend

A. The neighboring country is an enemy

B. The neighboring country is not an enemy

C. The neighboring country is a friend

D. The neighboring country is not a friend.

AC

DA

cD

AB

V is the brother of K and K is sister of F. F is brother of G. How is G related to V?
Data inadequate

Sister

Brother

Brother or Sister

Identify the diagram that best represents the relationship among the given classes.

Cotton, cotton bedsheet, cotton pillow cover
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Q.No: 40

Q.No: 41
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Q.No: 43

Q.No: 44

o W >

Q.No: 45

Three of the following four number-pairs ale alike in a certain way and one is different. Find the odd one out.

378:255
756 :633
865:722

967:844

Select the option that is related to the third figure in the same way that the second figure is related to the first figure.

Problem Figures

or(QQ (WvPr|l [F&B
- ?
PpAW [(DBO| |[c@
Answer Figures
<$C| @ Q¢C| |[C30
F&B| [FB B F| |[B¥F
(a) (b) (€) (d)
(b)
(a)
(c)
(d)

Select the option /number which is related to 37 number in the same way as 2% number is related to a

1¢t pumber?
54:20:67:7
16

13

21

42

Select the option that is related to the third term in the same way as the second term is related to the first term.

PS:MV:GJ:?

DN

DM

EN

EM

Select the letter-cluster that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster.

AZBY : DWEV : HSIR: ?
KOLP
JQKO
KPOL
KPLO

Three of the following four letter clusters are alike in a certain way and one is different. Find the odd one out.
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Uxv
ADB

QTS
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Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the

v H 7 U ofR 30 a1E IR HUT
second, and the two statements are logically consistent with the main statement. fegm

qferg 3 ST &t aF srorTeft geRgT STg
If police carry out the investigation, the culprit will be caught §
A. gfers 3 &y ST
Q.No: 46 A. police carried out the investigation
B.gfer 7 Sife A8 Y

B. police did not carry out the investigation

) C. SToRTeft UeheT T
C. the culprit was caught

D. sruRreft yenet & AT
D. the culprit was not caught 1T

A cb ch
B DA DA
C BC BC
D AC AC

Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the
second, and the two statements are logically consistent with the main statement.

fu Tg st & e e 3R ITh 91C TR B
e 1 i Y el R a1 FEised R

The caterer is going to serve either on glass plates or on disposables

A. &R B Y Wil IR IR 57T 8§

Q.No: 47 A. The caterer is going to serve on glass plates

B. R &g &Y Wie TR areT T8l &

B. The caterer is not going to serve glass plates
C. e feeiviae W <11 @1 8

D. #ew fewuisiae g arer 78l &

C. The caterer is going to serve on disposables

D. The caterer is not going to serve on disposables

A DA DA
B AB AB
Cc CA CA
D BD BD
Find the related word from the given alternatives. g g Rreneut @ Tl 2reg o1 9o R
Q.No: 48
Cattle: Herd a3yl gs
A Milk : Cow ECHuIE
B Grass : Garden e : aeftar
c Boat : Lake ara : gfie
D Fish : School Sl : Tt
Identify the figure that completes the pattern. 3G TG Y UgaT R 7Y G Y g el
? ?
Q.No: 49
Q.No: 50 |dentify the class that best represents the Venn-diagram. 39 T Y UgE B i IH-3TRE BT G 37
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Q.No: 52

O @ >

Q.No: 54

o o0 W >

Q.No: 55

O 0 W >

Q.No: 57

Ladies, pregnant Ladies, reporters.
Car drivers, Human beings, women
Season, autumn, winter

Battery, Phone battery, Computer battery

What is my father’s wife's father-in-law's only son to me?
Father

Uncle

Brother

Grand Father

To reach his office daily, Rohit goes from
his home he first travels 5 km to the east,
then turning to his left to travel 12 km,
then turning right to travel 5 km, then
again turning right to travel 12 km. How
far is his office from his home?

12km 12 5.t
17 km 17 .t
13km 13 @t
10 km 10 fn.sft

Three of the following four number-pairs are alike in a certain way and one is different. Identify the different one.

17:21
11:13
3:5

23:29

In the following question, a series of letters is given. Some letters have been removed in these series, and they are in the options given below the
series in the same order as they should be. Study the given series carefully out of the four alternatives given below, and find the one that best fits in

place of the missing letter of the series.

a_bbaa__baa__baab__aab
abab
baba
abbb
babb

Find the wrong term in the series?

34,18,10,6,4,8
6
4
8

34

Find the average of the numbers appearing on all 6 faces of the dice.

3.5
3.2
3.6
3.4

An alloy contains 12% Steel. How many kilograms of mixed metal will be required to get 75kg steel?

Afgermai, mofadt afgemsi, weri
R ek, 7, HReT
Hrew, 2RE g, W

3 forg 2 Rrer & weh & g o gt

444%
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T IR freedt § & & 7S sfa @1 eargden

a__bbaa_baa_baab__aab

abab
baba
abbb
babb

SRaelT H Tl ShH ST Ul TRIG?

34,18,10,6,4,8
6
4
8

34
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T ey emg | 12% 3%urd €, 75 fomm swma 3
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Q.No: 58

o W >

Q.No: 59

Q.No: 60

Q.No: 61

Q.No: 62

Q.No: 63

O 0 W >»

Q.No: 64

725kg
445kg
625kg

665kg

Stmplify: 20025 %3 =12

If 2a?— 7ab+3b? =0, then find the value ofa b

The ratio of milk and water in three samples is 11: 14, 16 : 19 and 20 : 25. A mixture containing equal quantities of all three samples is made. What

will be the ratio of milk and water in the new mixture?
4571:5511
2123:2612
1549:1811

2564:987

‘What should comein place of question mark in the following number series?

25% of 544 + 38% of 1400 + 60% of 2880 =7

2400
2396
2392

2395

The value of 4 =24 0f 4 x8 +28 x8+24 -4+3+4-4+120f4x121is:

‘What should comein place of question mark in the following number series?

9082 + (8% of2270.5) =7+ 25

1255
1245
1250
1248

Simplify: 148 - [36 + {124 - 6(68 - 50)}]

37
36
40
35

725kg
445kg
625kg
665kg

TfG 222 — 7ab+3b2=0,dla:b BT

f et A gy ofk urht o T 11:14,16:

4571:5511
2123:2612
1549:1811

2564:987

Ferarferfr daT-sfaer & Wt (
259% T 544 + 38% w1 1400 + 6l
2400
2396
2392

2395

4+4PI24x8+28x8+24 -4+

T der-gae § v
9082 + (8% cal 22?0.5) —7+2

1255
1245
1250
1248

T FIhod: 148 -[36+{ 124 - 6(

37
36
40
35

Page - 9


https://testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp

Q.No: 65
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Q.No: 66

Q.No: 68
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Q.No: 69

Q.No: 70

o O W >

Q.No: 71

o O W P>

Q.No: 72

o O W P>

There are seven consecutive even numbers. Largest even number is 40% more than the
smallest even number. Find the average of these seven consecutive even numbers.

36
31
38
42

The sides of a triangle are in the ratio 4 : 5: 7. If its perimeter is 48 inch, then what is a the difference between its two bigger sides?
12inch

6 inch

4 inch

2inch

Three types of Rice of Rs. 1.37, Rs. 1.39 and Rs. 1.42 per kg are mixed together to be sold at Rs. 1.40 per kg. In what ratio should the rice be mixed.
23
25
26
28

Ram gives gifts to her 28 friends equally. He has Rs 10000. How much maximum money does he spend on his friends equally and how much money
remains to him?

Rs. 200 Rs. 50
Rs. 450 Rs. 100
Rs. 350 Rs. 200

Rs. 250 Rs. 150

In an office of 20 employees, the average age is 25 years old. If we include an officer, the average will increase by 1 year. What is the age of the
officer?

48
46
42

44

In a T20 match of 20 overs, team A scored at a run rate of 8.40 runs per over in first innings. Team B is playing and 4 overs are left and the required
run rate to tie the match is 10.50 runs per over. What is team B's current run rate?

7.88 runs per over
7.63 runs per over
8.00 runs per over

7.75 runs per over

Pen is called pencil, pencil is called eraser, eraser is called sharpener, sharpener is called book, book is called bag and bag is called class. So we can
read?

Bag
Class
Sharpener

Book

Complete the following series
57,60, 63,66,69, ____

72

73

70

74

g1 TR W1 Sp AT FH g
¥ 3| 379 HATTT 99 UG
36
31
38
42

T AT R e 4:5:7. F U A&l 2
1289
63w
4w

289

fF UehR & a1t RS. 1.37,%. 1.39 3R 3. 1
23
25
26
28

I 319 28 A ol THH w0 & IJugR a1 @

200 ¥4d 50 FUd
450 FUd 100 T
350 ¥Ud 200 FUd
250 $9& 150 T2

20 FHHaTRET & ok Swraterd #, siad 3mg 25

48
46
42

44

20 MRFA20 T FETAFUgeh udr A ¢
Ul 3iter &1 & B Y g A ¥e 71a 2

7.88 3 ufa sifeR
7.63 T ufd aiteR
8.00 T wfd aiter
7.75 = ufa sifeR

O &l U, Gfet Rt 3513, SRR aht AR, &

&
A

AR

Frfafa sie &t g
57,60, 63, 66,69, ___

72

73

70

74
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Q.No: 73
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Q.No: 74

o W >

Q.No: 75

O O W P>

Q.No: 77

O 0O W >

Q.No: 78

o O w >

Q.No: 80

Three positions of a cube are shows below. What will come opposite to face containing ‘Q"?

Q P T
P L] No|R [ Q
T
P
R
B

Which of the following will come in the place of question mark?
ab_a_aa__a.a

bbabb

babab

aaaba

abbab

From the given alternative words, select the word which cannot be formed using the letters of the given word.
DOWELLING

Winning

Gone

Down

Welling

In a class of fifty students, Geeta's rank is thirty-two from the left end. What is her rank from the right end?
18
17
19
20

In a row of 30 boys, Ajay is 23" from left end and Amar is 12% from right end. Then find how many
boys are in between Ajay and Amar?

4
2
3

1

Which of the following will come in the place of question mark?
a-bc-c-abb-bca-

accha

cbbac

ccche

abbba

In a certain code language, ‘PLANE’ is written as ‘VQEQG'. What is the code for ‘ROUGH’ in that code language?
XTYJI
WTYJ
XTYJJ

XSyl

Three statements are given followed by four conclusions numbered |, I, Il & IV Assuming the statements to be true, even if they seem to be at
variance with commonly known facts, decide which of the conclusions logically follow(s) from the statements.Statements:-Some rings are phones.

All phones are laptop.

O o i Rt fa eufE € §1 ' A

Q P
P ] M R

T

P

R

B

Ffafa & @ o usraras g & W w

ab_a_aa__a.a
bbabb
babab
aaaba

abbab

g g Ao Sreal H @ g8 ree gAY SRy
DOWELLING

Winning

Gone

Down

Welling

e faenfefat & gen werm & it o1 @ IR
18
17
19
20

30 STgeh! i Teh Ufh H, 37T 916 BR § 2¢

Frfafea & & = users g & /W
a-bc-c-abb-bca-

accba

cbbac

cccbe

abbba

e RS Gidhfdes w8, ‘PLANE’ @l 39 e
XTYJI
WTYI
XTYJJ

XSYIJ

i et o are IR A |, 11, 11 ek IV R
qTfheh ¥ § SFER0T el 8

hYA:
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N
Some laptops are stations.
Conclusions:i. Some stations are rings
ii. Some phones are stations

iii. Some laptops are rings

iv. All rings are stations is a possibility.

Only conclusion 11l & IV follow.
Only conclusions | & Ill follow
None follow.

Only conclusion Il and either conclusion | or IV follows.

If T =20 and TEAM = 39, then TREE = ?
36
48
54
39

If COMMENT is coded as 4171617102027 and SHARE is coded as 201042210, then how will LIKE be coded as?

1315149
1311149
2691149
1311169

In the English alphabet, which letter is 13th from right end?
[}]
M

In the given word find out how many such pairs of letter are their which has as many letters between them in the word as in the English alphabet.

DECORATE
Three.

Two.

More than three.

One.

Observe the faces of the dice and then answer the question.
Which colour is opposite to Red?

Red Blue Pink

Blue Pin Black [Pin Yellow Red

Yellow
Black
Green

Pink

DIRECTIONS: What should come in place of the question mark (?) in the following question?

2,4,16,96,768,?,92160
7680

9458

Fo RTwHE

Tt B AeTa §

FO AUSTT R &

forser:

. e R RTE

ii. O B R &

iii. e ety far &

iv. goft R & R g Y AeraT &
et freene 111 g IV Srgeror ohed &
Shaet fsedf | gd 111 srgeRor Fed §
FE ITEROT T FAT §

Faet freae 1 ofk o at frsendf | @& IV g

gfe T = 20 3R TEAM = 39, @t TREE = ?
36
48
54
39

afs COMMENT &t 4171617102027 & U
1315149

1311149
2691149
1311169

Siioft qufaTen & arft R & 133 ©H WA

21s% ‘DECORATE' # 31eRf & feha Q@ g &,

DECORATE
Cixt

i

@ & sifdre

IR & Feld! B o@ A weAt @ v
Red & A @1 gm?

Red Blue

Blue [Pin Black [Pink

Yellow
Black
Green

Pink

fAEsr: Ffafed vy & vsams R (2) &+
2,4,16,96,7682,92160
7680

9458
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Q.No: 87

Q.No: 88

o O W >

Q.No: 89

Q.No: 92

O 0 W >»

Q.No: 93

O @ >

Q.No: 94

8182
6192

Calculate the cylinder’s curved surface area if its radius is 13.5 cm and height is 7.5 cm.
528.24 cm?
636.43 cm?
162.77 cm?

190.89 em?

A man earns Rs 200 on the first day and spends Rs 150 on the next day. He again earns Rs 200 on the third day and spends Rs 150 on the fourth day.
If he continues to save like thus, how soon will he have Rs 600 in hand?

17 days
12 days
10 days
18 days

Calculate the rectangle’s area if its length is 80 cm and breadth is 60 cm.
5000 cm?
4800 cm?
1680 cm?

1200 cm?

If the area of a circle is 154 sq cm, what will be its diameter?
14cm

7cm

16 cm

28cm

Geeta can finish typing a 187 page document in 11 hours, Mitali in 13 hours and Sonali in 17 hours How long will they take to type a 187 page
document if they work together?

5432/51 hours
6578/87 hours
2354/231 hours

2431/551 hours

(25142324 2%42%42%) is divisible by-
127
58
124
23

Akash, Bharat, Charan, Dinesh, Mahesh and Naresh have 6, 16, 21, 10, 12 and k online friends with them. If mean number of friends with them is 14,
find k.

17
23
20
19

A can paint a house in 55 days and B can do it in 66 days. Along with C, they did the job in 12 days only. Then, C alone can do the job in how many
days?

20
24

8182
6192

g geent frear 13.5 9t & ofk g 7.5 I
52824 gL
636.43 TR
162.77 R
190.89 J#m

ek afth uget 1 200 & aTar & o snTet f
foram ft & 3wk U 600 wUg g1t ?

17 =
12+
10 =
18R+

ST & & I TUMT B Al 3R oAaTg 80 T
5000 R
4800 HFR
1680 TR
1200 R

I ek g &1 et 154 7t §ft 8, f S
14 St
7 &t
16 it
28 S+t

ftar 187 Ui & gxardst ot 11 € H, farett
THEY T

5432/51 ®e
6578/87 T&
2354/231 g5
2431/551 6

(27142521253 554 55%) R

127
58
124
23

ST, 4=, TROT, Ay, FRr SR RAUF 6, 10

17
23
20

19

A Rt R Y 55 T # de o Tkt & SR E
HAM?

20
24
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Q.No: 95
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Q.No: 96
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Q.No: 97

Q.No: 99

o O W >

Q.No: 100

o W >

44

33

Calculate the triangle’s base if area is 435 cm? and height is 11 cm.

60.66 cm
85.54 cm
65.75cm

79.09 cm

If 4x2 - 12x + kis a perfect square, then the value of k is—

10
12

A cistern can be filled by one tap in 18 hours, and by another in 19 hours. How long will it take to fill the cistern if both taps are opened together?
257/21 hours
411/13 hours
543/27 hours

342/37 hours

The LCM of 4 numbers is 117 and the HCF of each pair is 3. Find the multiplication of all the numbers?
3158
2170
3159
3179

The ratio of present ages of Reshma and her mother is 9 : 2. The ratio of their ages four years ago was 8 : 1. What will be the sum of their ages four
years from now?

52
55
44
48

Rahul's ageis f‘f‘é% of Ramesh’s age. The ratio of their ages before 7 years was 9 : 14. Find the
sum of their presént ages.

85

115

105

175

44

33

g aT 435 aeEr k== 1
60.66 Ffier
85.54 e
65.75 e
79.09 ¥R

Tfg 12 +k O T g Aty

10
12

e T 1 Gk AT 18 ©E A 3R qERT A 19
257/21 %
411/13 5
543/27 5
342/37 ¥

IR G BT .99, 117 3R e gt
3158
2170
3159
3179

2T 3R IFH! AT Y TIA ST AT SIATA §

52
55
44
48

115
105
175
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